SOLUCIONARIO TALLER Nº 2
BIOESTADÍSTICA  
Problema 1
a) 0.6778
b) 0.8791
c) 0.1074
d) 0.1074
e) 8 ratas

Problema 2
a) 0.8848
b) 0.8848
c) 0.1047
d) 0.4860
Problema 3
a) 0.1004
b) 0.8753
c) 0.9989

Problema 4

a) 6 muertes

b) 0.1462
Problema 5
a) 0.4422
b) 0.00005995
c) 0.00002171 
Problema 6
f) 0.8185

g) Crecimiento normal si la talla del niño está entre 109.6 cms. y 132.8 cms.

h) 0.08146

i) 0.9181

Problema 7
e) 0.9599

f) 93.71 %

g) Aproximadamente 958 diabéticos

h) 111.36 mg./100 ml.

Problema 8
d) 0.0034

e) 0.2643

f) 0.7323

Problema 9

c) 95.63

d) 5.94 %

e) 0.647

